2022%6H250 () HFFEXVvAKXE

SAAkRE 100 -5 -10% HEM 5%

Ca—hr(REfET=XO—Hil) =

B4 42T [No. % [No.|Da—F(E S EHOFR) | &
14:20(14:45|(D)| £+oA [0 0~ 2 7| FyFLus @| =#m |0, oo FEas
14:5015:15| Q)| #am# o )~ 12 HEra @| FEaa [0 74| €oroB
15:2015:45|(®)| £koa [0 0~ 12| Ay ®| ruFLvs |2 10 0| FEas
15:50(16:15((7)| #amm (10~ L 6| FEaA Ers 002 whouB
16:20(16:45|(Q)| £+ona [0 0~ 2 5| FEas MFLws (55 D0 AT
16:5017:15| (]| #am o )~ > 4| £or508 @| = |1 24 Faaa
KA | EVRSILA | MTLws | KRBT | FEAB | B R | 9 |BA| 8| % | 2 E
2 R3ILA 0o @ 7 0 ® 2 0 ® 5 0 3 0 0 0 14 | -14| 4
FTLwE | 7 - 0 5 ® 0| 2 ® 0|3 |0 | 0| 9 |14] 0] 14][1
ZHET 2 - 0|0 - 5 0o @ 0|1 |1 1| 4]|2]|5]|-3|3:
FEB®HB |5 - 0| 0 - 2|0 - O T 1| 1| 4|5 ] 2]|3]2

FyX KEA |EB| NITLys |xEm| FEAAB %3 AHT gl RS ILA

X£B AR BEra FHEA | EVNSAB (B | A | #» BR| & | £ | £ B
AR 0 ® 2|1 @ 6|0 @ 4|0| 3|00 1 ]|12|-11] 4
BEra 2 - 0 1 ® 4|0 31| 2]0|3|3]|7|-4]|3
TEABA 6 - 1|4 - 1 0 @ 4| 2| 1| 0| 6|10 6| 4|2
tbSAB| 4 - 0|3 - 0| 4 - 0 3| oo |9 |11t] o |11]1

FyX K£B |(BE| thSB |2Em| TFEAAA |[®etx waf| EAEE

Bt
K}
>




